
  

What period of English history did King Henry VIII live in? 

__________________________________________________________________________________ 

1 mark 

Look at the section headed: Catherine of Aragon. 

Complete the table below with one piece of evidence from the leaflet to support each statement. 

 Evidence 

In the 1500s people 
married at a young age 

 

Henry VIII was an 
impatient man 

 

 

2 marks 

But there’s more to the story…  

This suggests that… 

Tick one. 

Catherine wasn’t able to have sons. 

Henry wanted a son to be heir to the throne. 

Henry didn’t like Catherine of Aragon. 

there was more than one reason for the annulment. 

1 mark 

 

Look at the section headed: Anne Boleyn. 

The text refers to King Henry VIII’s affections. 

What does the word affections mean in this sentence? 

__________________________________________________________________________________ 

1 mark 

 

Questions 1–13 are about the article The Six Wives of King Henry VIII 

1 

2 

3 

4 



What crimes did Henry VIII accuse Anne Boleyn of? 

1. ________________________________________________________________________________ 

2. ________________________________________________________________________________ 

1 mark 

 

Look at the section headed: Jane Seymour. 

Some people think Henry VIII didn’t crown Jane Seymour Queen of England because… 

Tick one. 

she didn’t have a baby boy.  

she died too soon. 

she was buried with Henry. 

Henry wanted her to have a baby boy first. 

1 mark 

 

Look at the section headed: Anne of Cleves. 

Find and copy one word that shows Henry didn’t marry again immediately after Jane Seymour died: 

_______________________________________ 

1 mark 

  

Using information from the text, tick one box in each row to show whether each statement is true or 

false.  

 
True False 

Henry thought Anne of Cleves’ portrait was ugly.   

Anne of Cleves was put in prison.   

Anne of Cleves pleased Henry when they met.   

Henry married Anne of Cleves.   

 

2 marks 

 

 

5 

6 

7 

8 



Look at the section headed: Kathryn Howard. 

Delighted with his new wife, Henry is said to have spoilt Kathryn with gifts and called her his “rose 

without a thorn”. 

This suggests that… 

Tick one. 

Henry thought Kathryn was perfect. 

Kathryn was in love with Henry. 

Henry disliked Kathryn. 

Kathryn was younger than Henry. 

1 mark 

 

Look at the section headed: Catherine Parr. 

Complete the table below to show aspects of Catherine Parr’s character which Henry liked and 

disliked: 

Characteristics Henry VIII liked Characteristics Henry VIII disliked 

 
1. ______________________________ 

 
______________________________ 
 

2. ______________________________ 
 
______________________________ 
 

 
1. ______________________________ 

 
______________________________ 

 

 

2 marks 

 

…she managed to convince Henry that she was loyal to him and his religion… 

What impression does this give of Catherine Parr? 

__________________________________________________________________________________ 

1 mark 

 

 

11 

10 

9 



Why has the author of the article decided to use Divorced, beheaded, died, divorced, beheaded, 

survived! as the subheading? 

__________________________________________________________________________________ 

1 mark 

 

 

Number the events to show the order in which they happened. The first one has been done for you: 

Henry’s daughter, Elizabeth, is born 

Henry’s daughter Mary is born 

Henry marries Catherine of Aragon 

Henry’s son, Edward is born 

Anne Boleyn is beheaded 

2 marks 

13 

12 

1 


